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DCF Choices: Equity versus Firm

m Valuatign: Value the entire business
discounting sash flow to the firm at cost
apital

Existing Investments Fixed Claim on cash flows
Generate cashflows today Little or No role in management
Includes long lived (fixed) and Fixed Maturity
short-lived(working Tax Deductible
capital) assets

Expected Value that will be Residual Claim on cash flows
created by future investments Significant Role in management
/ Perpetual Lives

Equity valuation: Value just the
equity claim in the business by
discounting cash flows to equity at
the cost of equity
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The Value of a business rests on..

(What is the value added by growth asset53

When will the firm
become a mature

hat are the L
cashflows from Expected cashflows fiirm, and what
existing assets? Equity: After debt payments are the pote;mal

Firm: Before debt payments roadblocks

quity: Value of equity Equity: Value of equity
irm: Value of operating asset Firm: Value of firm

alue today ]4 /T erminal Value
S

Discount Rates
Equity: Cost of equity
Firm: Cost of capital

i

How risky are the cash flows from both
existing assets and growth assets?
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The nine circles of valuation hell.. With a special bonus
circle. ..

Base Year & Accounting Fixation

Death and taxes

il
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Illustration 1: Base Year fixation....

B You are valuing Exxon Mobil, using data from the most recent fiscal year
(2008). The following provides the key numbers:

Revenues $477 billion
EBIT (1-t) $ 58 billion
Net Cap Ex $ 3 billion
Chg WC $ 1 billion
FCFF $ 54 billion

B The cost of capital for the firm is 8% and you use a very conservative stable
growth rate of 2% to value the firm. The market cap for the firm is $330 billion
and it has $ 10 billion in debt outstanding.

a. How under or over valued is the equity in the firm?

b. Would you buy the stock based on this valuation? Why or why not?
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Normalization..

. not easy to do... but you don’t have a
choice...

Exxon Mobil: Equity Value and Oil Price

$10

$20 $30 540 $50 $60 $70

Oil Price

SE0 $90 5100 $110 $120
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And one possible response...

Step 1: Look at history

$70,000 $100.00 " "
Step 3: Run simulation
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Step 2: Look for relationship

Regression of Exxon income against oil price
Op Inc =-6,934 + 911 (Price per barrel of oil)
R squared = 94%
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Illustration 2: Taxes and Value

B Assume that you have been asked to value a company and have been provided
with the most recent year’s financial statements:

EBITDA 140
- DA 40
EBIT 100

Interest exp 20
Taxable income 80
Taxes 32
Net Income 48

Free Cash flow to firm
EBIT (1- tax rate)

-(Cap Ex — Depreciation)
- Change in non-cash WC
=FCFF

Assume also that cash flows will be constant and that there 1s no growth in
perpetuity. What is the free cash flow to the firm?

a)
b)
c)
d)

e)
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88 million (Net income + Depreciation)

108 million (EBIT - taxes + Depreciation)
100 million (EBIT (1-tax rate)+ Depreciation)

60 million (EBIT (1- tax rate))
48 million (Net Income)
68 million (EBIT — Taxes)



Illustration 3: High Growth for how long...

Assume that you are valuing a young, high growth firm with great potential, just
after its initial public offering. How long would you set your high growth
period?

< 5 years
5 years
10 years

Ld e o

>10 years
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Reasons to be cautious..

Growth fades quickly And does not scale up easily

Typically, the revenue growth rate of a newly public
company outpaces its industry average for only about

flve yearS Growth and Market Cap
15%+
Margin b
?Nhicf); 49 000rs LR Post-1.P.O. growth
revenue Median of new issues
grow[h rate @ TORRPPEEPRRE W from 1965 to 2005
exceeds
industry
average
1 2 3 4 5 6
Number of years a"er Comlng to rnarkel W Revenues M Operating Income ~ Net Income M EPS
Source: Andrew Metrick The New York Times
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[llustration 4: The Cost of Capital

B The cost of capital for Chippewa Technologies, a US firm with 20% of its revenues from
Brazil, has been computed using the following inputs:

Cost of equity = Riskfree Rate + Beta (ERP) + Small firm premium
=5% +1.20 (5%) + 3% =14%
Replaced current “Adjusted” oth from Ibbotson dala base, derived
T.Bond rate of 3% Beta from from 1926-2008 data

with normalized Bloomberg ERP: Stocks - T.Bonds (Arithmetic

rate of 5% average)
Small firm: Smal stocks - Overall market

Cost of capital = Cost of equity (Equity/ (Debt + Equity)) + Cost of debt (1-tax rate) (Debt/ (Debt + Equity)
=14% (1000/2000) + 3% (1-.30) (1000/2000) = 8.05%

rom Used market value of Company is not Used To be conservative,

equity rated and has no effective tax counted all liabilities,

bonds. Used rate of 30% other than equity, as

book interest debt and used book

rate = Int exp/ BV value.

of debt
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4.1: What 1s the riskfree rate?

When we use the T.Bond rate as a riskfree rate, we are assuming that there is no default
risk in the US treasury. Is that reasonable? What if it is not?

6.00%
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The Indian government had 10-year Rupee
bonds outstanding, with a yield to
maturity of about 7% on January 1,
2010. In January 2010, the Indian
government had a local currency
sovereign rating of Ba2. The typical
default spread (over a default free rate)
for Baa2 rated country bonds in early
2010 was 2.5%. The risk free rate in
Indian Rupees is:

a)  The yield to maturity on the 10-year
bond (7%)

b)  The yield to maturity on the 10-year
bond + Default spread (9.5%)

¢)  The yield to maturity on the 10-year
bond — Default spread (4.5%)

d) None of the above 12



4.2: Don’t let your macro views color your valuation

B If you believe that interest rates will go up (down), that exchange rates will
move adversely (in your favor) and that the economy will weaken
(strengthen), should you try to bring them into your individual company
valuations?

O Yes
No

B If you do, and you conclude that a stock is overvalued (undervalued), how
should I read this conclusion?

(]
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4.3: Betas do not come from regressions..

Aswath Damodaran

for explanation, for similar functions. POES Equity BETA

HISTORICAL BETA

AMGN US Equity AMGEN INC

Relative Index S&P 500 INDEX
Identifies latest ohservation

Period [ Weekly &0.0o
SENHEER 5/13/05860 5/ 4/07
Market |] Trade

10.00
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Alphal(Intercept)
Z2 (C ation)
lpy Error
Std Error of Beta
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-10.00
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And cannot be trusted even when they look good...

CHELP> for explanation, <MENU> for similar functions. P25S5 Equity BETA
Screen Printed
HISTORICAL BETA

NOKTV Fh Eauity BTSRRI

Relative Index HEX HEX GENERAL INDEX
*Indentifies latest observation

Period I Weekly : s
Range TH | v= 1.27 X+ 0.4z |
Market ] Trade § : .

- - v

N

ADJ BETA 1.18 2
RAW BETA 127 g
Alpha(Intercept) 0.42
R2 (Correlation) 0.94
Std Dev of Error 1.87
Std Error of Beta 0.03
Number of Points 103

i i i -40.00
ADJ BETA = (0.67) * RAl BETA % b o i ey

+ (0.33) * 1.0

Copg'i?ht 2000 BLOOMBERG L.P.  Frankfurt:69-920410 Hong Kon; :2-977-6000_ London:207-330-7500 New York 2 12-318~2000
Princeton:609-279-3000 Singapore: 226-3000 Sydney i 2-9777-2686 Tokyo 1 3-3201 -BS?O 1o:11-3048-4500

Sco Pau.
653-197-0 11-Aug-00 14:56:13
.FIEFE!!l!Hl[g
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Bottom-up Beta: Firm in Multiple Businesses
SAP in 2004

B Approach 1: Based on business mix

e SAP is in three business: software, consulting and training. We will aggregate the
consulting and training businesses

Business Revenues EV/Sales Value Weights Beta
Software  $5.3 3.25 17.23 80% 1.30
Consulting $2.2 2.00 4.40 20% 1.05
SAP $7.5 21.63 1.25

B Approach 2: Customer Base

Revenue Breakdown by Sector
in € millions | percent | change since previous year

Public services 604

Financlal services 519 ‘ 9% | +15%

Aswath Damodaran

7%|+9% Process
_ Industries 1,460
—— 20% | +6%
Industries 1,674
22% | +1%
Discrete
Consumer Industries 1,808
industries 1,350 24% | +9%
18%|+0%
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4 .4. And equity risk premiums matter..

Arithmetic Average

Geometric Average

Stocks - Stocks - Stocks - Stocks -
T. Bills T. Bonds T. Bills T. Bonds
1928-2009 7.53% 6.03% 5.56% 4.29%
(2.28%) (2.40%)
1960-2009 5.48% 3.78% 4.09% 2.74%
(2.42%) (2.71%) il
1999-2008 -1.59% -5.47% -3.68% -7.22%
In 2010, the actual cash (6-73%) (9.22%)

returned to stockholders was
40.38. That was down about

40% from 2008 levels.

Analysts expect earnings to grow 21% in 2010, resulting in a

compounded annual growth rate of 7.2% over the next 5 years. We

will assume that dividends & buybacks will keep pace.

43.29

49.74

53.32
|

Historical
premium

After year 5, we will assume that
earnings on the index will grow at
3.84%, the same rate as the entire
economy (= riskfree rate).

57.16

January 1,2010

S&P 500 is at 1115.10

Adjus

Buybacks for 2008 = 40.38

ted Dividends &
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EllS.lO =

4329 4640

4974 W5332

57.16

57.16(1.0384)

+ L+ L+ o+ -+
(+r) (40> (+r) 40 (1+0° " (r=0384)1+7)

Expected Return on Stocks (1/1/10)
T.Bond rate on 1/1/10
Equity Risk Premium = 8.20% - 3.84%

20%
84 %
36%
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Equity risk premiums changes over long periods... And so do
default spreads...

Figure 9: Equity Risk Premiums and Bond Default Spreads
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And sometimes over short time periods: 9/12/2008 —

12/31/2008

Implied Equity Risk Premium - 9/12- 12/31/08

1300
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............................................................................
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4.5: Small Cap and other premiums

B While it has become conventional practice to estimate and use small cap,
liquidity and other premiums, when computing cost of equity, it is a dangerous
practice because:

1. These premiums are derived from historical data and come with very large
standard errors. For instance, the standard error on the small cap premium
estimated over the last 80 years is close to 2%...

2. If small firms are riskier than large firms, we should consider the source of
that risk — niche products, high operating leverage... - and build it in, rather
than accept a fixed premium for all small firms.

3. Small firms become larger as they grow over time.. Small cap premiums
should be year-specific.

4. The danger of double counting risk grows as we add more premiums — small
cap, private business and illiquidity are overlapping issues, not independent
ones.
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4.6: With globalization of revenues... globalization of risk

Proposition 1: There is more risk in operating in some countries than in others and
the risk premium should reflect this additional risk. One approach to
estimating this additional risk premium is to do the following:

e Start with the default spread for the country in question
e Scale up the default spread to reflect the additional risk of equity

Country Risk Premium = Default Spread * (Ogyity/OGovernment Bond)
Country Risk Premiumg,,,;; = 2.00% (33%/22%) = 3.00%

Proposition 2: Risk comes from your operations and not your country of
incorporation. Developed market companies can be heavily exposed to
emerging market companies, just as emerging market companies can find
ways to reduce their exposure to emerging market risk. One simple proxy is to
look at the revenues generated in a country, relative to the average company in

that market.
. Proportion of Chippewa’s revenues from Brazil = 20%
. Average Brazilian company’s revenues from Brazil = 77%

Lambdacy;,pews = 20%/ 77% = .26
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4.7: Not everything is debt...

B To be treated as debt, there are three conditions that have to be met:

* The liability must give rise to contractual obligations that have me to be
met no matter how the firm’s operations are doing.

* These obligations are usually tax deductible

» Failing to meet these obligations can lead to loss of control of the
business.

B When defining debt for cost of capital purposes, there are two rules to follow:

e Use market values for debt, rather than book value, even if you have to
estimate the market value.

e Define debt narrowly to include only interest bearing debt and lease
commitments, rather than everything on the balance sheet
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4.8: The Cost of Debt

B The cost of debt is the rate at which a firm can borrow money, long term and
today, corrected for the tax benefits of debt.

Take all debt, short term as well as long term, and attach one long term
cost of debt to it.

That long term cost of debt will be based upon the level of riskless rates

today and the default risk of the company today (based on either an actual
or a synthetic rating).

Interest saves you taxes at the margin. Consequently, the marginal tax rate
should be used to compute the tax benefit.

B As a general rule, it is dangerous to start breaking debt down into individual
pieces (senior, subordinated, unsecured...) and attaching different costs to
each one.

Aswath Damodaran
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The Correct Cost of Capital for Chippewa

What was used...

What should have been used...

Riskfree Rate

Normalized riskfree rate = 5%

Actual riskfree rate = 3%

Eta Bloomberg Adjusted Beta = 1.20 Sector average adjusted beta = 1.60
Based on small cap companies in sector
Equity Risk Premium Ibbotson Historial premium= 5% Current implied equity risk premium = 4.50%

Other Adjustments to cost of

Small firm premium = 3%

No small cap premium

equity Country risk exposure = Lambda * CRP
=0.26*3% = 0.78%
Cost of Equity 5% + 1.2 (5%) + 3% = 14% 3% + 1.6 (4.5%) + 0.78% = 10.98%

Cost of Debt (pre-tax)

3%

3% + 4% = 6.5%

Tax Rate

Effective tax rate = 30%

Marginal tax rate = 40%

Cost of Debt (after-tax)

3%(1-3)= 2.1%

6.5%(1-.4)=3.9%

Debt Ratio Book ratio: :Liabilities = 50% Market Debt / Capital ratio = 50%
Equity = 50%
Cost of capital 14%(.5)+2.1%(.5)= 8.05% 10.78%(.7)+3.9%(.3)=8.72%

Aswath Damodaran
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Illustration 5: The price of growth..

B You are looking at the projected cash flows provided by the management of
the firm, for use in valuation

Year Current 1 2 3 4
Growth rate 10% 10% 10% 10%
Revenues $100.00 $110.00 $121.00 $133.10 $146.41
EBIT (1-t) $30.00 [ $33.00 | $36.30 [ $39.93 [ $43.92
+ Depreciation $15.00 $16.50 $18.15 $19.97 $21.96
- Cap Ex $18.00 $19.80 $21.78 $23.96 $26.35
- Chg in WC $3.00 $3.30 $3.63 $3.99 $4.39
FCFF $24.00 $26.40 $29.04 $31.94 $35.14

a. How do you check to see if top-line growth is feasible?

b. How do you ensure that the forecasts are internally consistent? (In other

words, are all of the other forecasted numbers consistent with the growth
forecast in revenues?)

Aswath Damodaran
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5.1. Is the growth feasible?

B If the growth in a firm is coming from revenues increasing over time, the key
question to ask is whether this growth is feasible. There a couple of tests that
you can use to make this determination.

B The Max Test: The revenues that you are projecting in the terminal year
cannot exceed the overall market for the products and services produced by
your company.

e Define the market potential before you start forecasting.
e Keep track of market share

B The Scaling test: Each year that you project high growth to continue makes
your firm bigger and it becomes more difficult to maintain growth.

B The Big Player test: If there are much larger companies in the sector, check
and see what their revenues are (to get a sense of what large is in this business)
and how fast they are growing.
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5.2: Growth and Consistency

B Growth from “new” investments (sustainable growth)
Expected Growth
|

Net Income Operating Income
|
] ]
Retention Ratio= Return on Equity Reinvestment Return on Capital =
1 - Dividends/Net x | NetIncome/Book Value of Rate =(Net Cap EBIT(1-t)/Book Value of
Income Equity Ex + Chgin Capital
WC/EBIT(1-t)

B Growth from efficiency

 When a company generates higher returns on its existing investments, this
can create efficiency growth, measured as follows:
— With equity income: (ROE, — ROE, ) /ROE,
— With operating income: (ROC, — ROC, ) /ROC,

e This growth can last for the short term but not forever. (Why?)
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Illustration 6: The “fixed debt ratio” assumption

B You have been asked to value Hormel Foods, a firm which currently has the
following cost of capital:

Cost of capital =7.31% (.9) + 2.36% (.1) = 6.8%

a. You believe that the target debt ratio for this firm should be 30%. What will
the cost of capital be at the target debt ratio?

b.  Which debt ratio (and cost of capital) should you use in valuing this
company?
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6.1: Cost of Capital and Debt Ratios
Hormel Foods in 2009

Debt Ratio Beta Cost of Equity Bond Rating [Interest rate on debt Tax Rate Cost of Debt (after-tax) WACC Firm Value (G)
0% 0.78 7.00% AAA 3.60% 40.00% 2.16% 7.00% $4,523
10% 0.83 7.31% AAA 3.60% 40.00% 2.16% 6.80% $4,665
20% 0.89 7.70% AAA 3.60% 40.00% 2.16% 6.59% $4 815
30% 0.97 8.20% A+ 4.60% 40.00% 2.76% 6.57% $4.834
40% 1.09 8.86% A- 5.35% 40.00% 321% 6.60% $4,808
50% 1.24 9.79% B+ 8.35% 40.00% 5.01% 7.40% $4,271
60% 1.47 11.19% B- 10.85% 40.00% 6.51% 8.38% $3,757
70% 1.86 13.52% CCC 12.35% 40.00% 741% 9.24% $3,398
80% 2.70 18.53% CC 14.35% 38.07% 8.89% 10.81% $2.,892
90% 5.39 34.70% CC 14.35% 33.84% 9.49% 12.01% $2,597

Aswath Damodaran

As debt increases, your cost of equity should go up.
Levered Beta = Unlevered beta (1+(1-t) (D/E))

As debt increases, interest expenses will
go up more than proportionately. Holding
operating income constant, coverage

ratios decrease and ratings fall.
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6.2: Changing Debt Ratios and Costs of Capital over time —

Las Vegas Sands

Aswath Damodaran

Year | Beta | Cost of equity | Pre-tax Cost of debt | Debt Ratio | Cost of capital
1 [3.14 21.82% 9.00% 73.50% 9.88%
2 [3.14 21.82% 9.00% 73.50% 9.88%
3 |3.14 21.82% 9.00% 73.50% 9.88%
4 |3.14 21.82% 9.00% 73.50% 9.88%
5 [3.14 21.82% 9.00% 73.50% 9.88%
6 |2.75 19.50% 8.70% 68.80% 9.79%
7 12.36 17.17% 8.40% 64.10% 9.50%
8 [1.97 14.85% 8.10% 59.40% 9.01%
9 [1.59 12.52% 7.80% 54.70% 8.32%
10 [ 1.20 10.20% 7.50% 50.00% 7.43%
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Illustration 7: The Terminal Value

The best way to compute terminal value is to
Use a stable growth model and assume cash flows grow at a fixed rate forever

Use a multiple of EBITDA or revenues in the terminal year

I I W

Use the estimated liquidation value of the assets

You have been asked to value a business. The business expects to $ 120 million in
after-tax earnings (and cash flow) next year and to continue generating these
earnings in perpetuity. The firm is all equity funded and the cost of equity is
109%:; the riskfree rate 1s 3% and the ERP is 7%. What is the value of the

business?
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7.1: Limits to stable growth..

B Assume now that you were told that the firm can grow earnings at 2% a year
forever. Estimate the value of the business.

B Now what if you were told that the firm can grow its earnings at 4% a year
forever?

B What if the growth rate were 6% a year forever?

Aswath Damodaran
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7.2: And reinvestment to go with growth...

B To grow, a company has to reinvest. How much it will have to reinvest
depends in large part on how fast it wants to grow and what type of return it
expects to earn on the reinvestment.

* Reinvestment rate = Growth Rate/ Return on Capital

B Assume in the previous example that you were told that the return on capital
was 10%. Estimate the reinvestment rate and the value of the business (with a
2% growth rate).

B What about with a 3% growth rate?
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7.3: And you may not make it to Nirvana...

B Traditional valuation techniques are built on the assumption of a going
concern, l.e., a firm that has continuing operations and there is no significant
threat to these operations.

e In discounted cashflow valuation, this going concern assumption finds its place
most prominently in the terminal value calculation, which usually is based upon an
infinite life and ever-growing cashflows.

e In relative valuation, this going concern assumption often shows up implicitly
because a firm is valued based upon how other firms - most of which are healthy -
are priced by the market today.

B When there is a significant likelihood that a firm will not survive the
immediate future (next few years), traditional valuation models may yield an
over-optimistic estimate of value.
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The Distress Factor

B In February 2009, LVS was rated B+ by S&P. Historically, 28.25% of B+
rated bonds default within 10 years. LVS has a 6.375% bond, maturing in
February 2015 (7 years), trading at $529. If we discount the expected cash
flows on the bond at the riskfree rate, we can back out the probability of
distress from the bond price:

529 _ 37 6375(1 B pDistress)[ + 1000(1 B pDistress)7
“(1.03) (1.03)

B Solving for the probability of bankruptcy, we get:
Tpisess = Annual probability of default = 13.54%
e Cumulative probability of surviving 10 years = (1 - .1354)10 =23.34%
e Cumulative probability of distress over 10 years = 1 - .2334 = 7666 or 76.66%
m If LVS is becomes distressed:

* Expected distress sale proceeds = $2,769 million < Face value of debt
* Expected equity value/share = $0.00

m Expected value per share = $8.12 (1 - .7666) + $0.00 (.2334) = $1.92

Aswath Damodaran
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8. From firm value to equity value: The Garnishing Effect...

B For a firm with consolidated financial statements, you have discounted free
cashflows to the firm at the cost of capital to arrive at a firm value of $ 100
million. The firm has

e A cash balance of $ 15 million
* Debt outstanding of $ 20 million

e A 5% holding in another company: the book value of this holding is $ 5 million.
(Market value of equity in this company is $ 200 million)

* Minority interests of $ 10 million on the balance sheet
B What is the value of equity in this firm?

B How would your answer change if you knew that the firm was the target of a

lawsuit it is likely to win but where the potential payout could be $ 100 million

if it loses?

Aswath Damodaran
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8.1: A discount for cash...

B The cash is invested in treasury bills, earning 3% a year. The cost of capital for
the firm is 8% and its return on capital is 10%. An argument has been made
that cash is a sub-optimal investment for the firm and should be discounted.
Do you agree?

O Yes

No

m If yes, what are the logical implications of firms paying dividends or buying
back stock?

(]

B If no, are there circumstances under which you would discount cash? How
about attaching a premium?
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8.2: Valuing Cross Holdings

B In a perfect world, we would strip the parent company from its subsidiaries
and value each one separately. The value of the combined firm will be

e Value of parent company + Proportion of value of each subsidiary

B To do this right, you will need to be provided detailed information on each
subsidiary to estimated cash flows and discount rates.

B With limited on unreliable information, you can try one of these
approximations:

e The market value solution: When the subsidiaries are publicly traded, you could use
their traded market capitalizations to estimate the values of the cross holdings. You
do risk carrying into your valuation any mistakes that the market may be making in
valuation.

e The relative value solution: When there are too many cross holdings to value
separately or when there is insufficient information provided on cross holdings, you
can convert the book values of holdings that you have on the balance sheet (for
both minority holdings and minority interests in majority holdings) by using the
average price to book value ratio of the sector in which the subsidiaries operate.
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8.3: The missed liabilities

B When going from the value of the firm to the value of equity, we usually
subtract out the debt of the firm. Since equity investors have a residual claim
on the firm, after all other claim holders have been paid, this is our last chance
to deal with claims on the firm.

B While almost all analysts bring in long-term interest bearing debt into their
analysis, the claims that get missed most often include:

Aswath Damodaran

Short term interest bearing debt (often shown in current liabilities)
Lease and rental commitments
Underfunded pension obligations

Potential claims from lawsuits
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8.4: The double counted liabilities...

B In getting from firm value to equity, conservative analysts sometimes reach
too far to detect claims against the firm that have already been considered
elsewhere (often implicitly) in their valuation.

B Common examples of double counted liabilities include

e Accounts payable, supplier credit and other non-interest bearing debt
(which are not only treated as part of working capital but also have no
explicit interest expense effect on income)

» Expected debt issues from future years. Note that when we keep the debt
ratio of a firm fixed over time, we are implicitly already assuming that
dollar debt will increase at the same growth rate as the value of the firm is
increasing by.

Aswath Damodaran 42



9. From equity value to equity value per share

B You have valued the equity in a firm at $ 200 million. Estimate the value of
equity per share if there are 10 million shares outstanding..

B How would your answer change if you were told that there are 2 million
employee options outstanding, with a strike price of $ 20 a share and 5 years
left to expiration?
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Value per share... as a function of stock price volatility and
option maturity

=¥ Value per Share
~— Diluted Value per Share
=+=TS Value per share

ath Damodaran
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10. The final circle of hell.

ath Damodaran

Exhibit 8
KENNECOTT COPPER CORPORATION

PROJECTED CARBORUNDUM COMPANY FINANCIAL DATA ADJUSTED TO REFLECT THE ACQUISITION OF CARBORUNDUM BY KENNNECOTT

AT A PRICE OF $66 PER SHARE, 1977-1987
($ millions except for per share and ratio data)

1977 1977
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Long-term debe . 86.2
Sharcholders’ equity .. ... 3090
Total capital . AT ian s r PR
Capital sources
Profit retentions . . £
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Debr financing (net) ..
Toral capital lddcd
Key financial ratios
Growth rate in sales (%) ... 169
123
054
189
Profit/net worth. . . 124
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Some closing thoughts on valuation...

View “paradigm shifts” with skepticism.

Keep your perspective; it is only a valuation.

Aswath Damodaran

Focus on the big picture; don’t let the details trip you up.

If you have to choose between valuation skills and luck....
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